Duration vs. Timestamps
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Cumulatieve afwijking

time.sleep(dur)

1.0001 1.004 1.002 1.03

Hoe te voorkomen?

j afwijking
lemand een idee?



Duration

SLEEP "\

1 1 1

dur
for dur in sequence:

sample.play()
time.sleep(dur)



Puration — Timestamps

1 1 1

t=0 t=1 t=2 t=3
// TODO - play sample at
//t==0 ]| t==1|
/] t==2]] t==3



Timestamps

@amp_sey?@, 1,7, 3j initialize timestamp sequence




Timestamps

timestamp seq = [ 0, 1, 2, 3]

ts @mp_w/ retrieve first timestamp




Timestamps

t=0.000

if(E >= ts:) TRUE
.play()

ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.000

if t >= ts: —
<:samp1e.p1ay() ) play sample
=t amp_seq[nextIndex]

time.sleep(0.001)




Timestamps

t=0.000

if t >= ts:

sample.play() _ _
. retrieve the next timestamp
ts = t1mestamp_se

time.sleep(0.001)



Timestamps

t=0.000

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleeg (0. 061) minor fraction ‘forward in time’




Timestamps

t=0.001

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.001

if(E >= ts:) FALSE
.play()

ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.001

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleeg (0. 061) minor fraction ‘forward in time’




Timestamps

t =0.002

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.002

if(E >= ts:) FALSE
.play()

ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.002

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleeg (0. 061) minor fraction ‘forward in time’




Timestamps

t=0.003

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.003

if(E >= ts:) FALSE
.play()

ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=0.003

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleeg (0. 061) minor fraction ‘forward in time’




Timestamps
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if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=1.000

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=1.000

if(E >= ts:) TRUE
.play()

ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

t=1.000

if t >= ts: —
<:samp1e.p1ay() ) play sample
=t amp_seq[nextIndex]

time.sleep(0.001)




Timestamps

t=1.000

if t >= ts:

sample.play() _ _
. retrieve the next timestamp
ts = t1mestamp_se

time.sleep(0.001)



Timestamps

t=1.000

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleeg (0. 061) minor fraction ‘forward in time’




Timestamps

—

etcetera

if t >= ts:
sample.play()
ts = timestamp seqg[nhextIndex]

time.sleep(0.001)



Timestamps

timestamp seq = [ 0, 1, 2, 3]
ts = timestamp_seq.pop(0)

if current_ts >= ts:
sample.play()
ts = timestamp_seq.pop(9)
time.sleep(0.001)



Multiple samples
# first item in sublist is the timestamp, second is
the sample index
event seq = [[0, O], [0.5, 1], [1.5, @], [3.0, 1]]
event = event seq.pop(0)

event[@] — timestamp
event[1l] — bevat the sample index

# dictionary = duidelijk



